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SYLLABS

Flants and Animaty. Our Enveonment, Scence aml Teckrology, Indis amd thi Woild, Sodal Ssudies, Lanquage, Literature and Media, Sports uuatﬂhthe_mde and
Logieal Reasaning. Curvent Affairs, L8k Skilk (Frathy, Fifectivn Communication, Critical Thinking, Creathve Thinking, Coping wifh Stress, Dection Making, Protlem
Suhing, Interperonal Skills Managing Emotione, Saif-awarene),

Achiewers. Section 1 Higher Ordér Thinking Questians o 1he dbove gion Sylabo

1. Which is the most densety populated Indian state? 5. ‘'Walden', a book by Henry David Thoreau is based
{Ay Arunachal Pradesh e :
(B} Kerzla (A) Wars & baltles  (B) Nuclear Physica
(S} Bihar [C) Engllsn I_ita:'amm (O} Nature
(D Gujarat
T &, The 'Human Genome Project
2. An authority in geclogy and agriculture, he also {A) Helps in development of chromosomes
designed the Indian National fiag. Who was he? (B) Heips in DMNA pairing
(A} Gopal Krishna Gokhale (C} Helps to identify genes that lead to diseazes
{B) Lata Lajpat Rai {0} Helps in the study of evalution of inveriebrates
{C) Pingal Venkayya . ’ ;
{D) Bigin Chandra Pal 1.« Preseclly ‘Gadbury' uses high quality cocos: beans
from which location?
3. Who appoints the Indian Army ChiefT (A) West Africa
(A The President (B} India
{B) The Prima Minister (G} South America
(C) The Defence Minister {[}3 Pamglgn

(D) Chief Justice of Supreme Caurt
B. Laparoscoplc surgery = lha praferred mathod n-f
4, The Aadhaar card cames

sugerny because
(A Address of the card holder (&) It uses latest tachnology
(B} Fingerprints of individuats {B) It is less invasive
(C} Biometric and demographic data of residents {C) It can be performed by any doctor
(D} Biometric and income status of residents (D) It has no side effects
8. I thie value of all the stocksiequity) of a company 10. If you have empathy that means
are added, the value represants : {A) You have a strang point of view
(A} Turnover of the company {B) You can understand what is told to you
(B) Market value of the comparny {C} No matter what you like to have your way
{C} Turnover minus the profit of the company (D) You can see things from other persen's

(D) Sales minus the expenditure of the company viewpoint



PATTERN & MARKING SCHEME

[{2) Reading | (3) Speken and imum

Time: 1 ht

i
| 1

{1) Woed and
SN Sructure Knowledge
N, of Questians §
Marks por Ques, | 1
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| 3

SYLLABUS

Soction - 1 : Synamyms, Antomyms, Analogies and Spellinags, One Word, Wond tides Nouss, Promeus, Mertrs, Averhs, Adjectives, Articles, Preposinons, Casjunctions, Punciastions,
Waices, Wamatinn, Concomd, Guestion Yoems, Tendes, Condinongt, Modes, Collocatons, Phrasal verks, idinns, Hamanyis-and-homaphores, Werds mristed t:: westhar Coufirie,

ianquae snd people, Globe problems, e,

section - 3 : Search for and sewieve nformation from vanious e sypes ke Encyelopodias, Dicianaries, stc. Uirceistand imnrmatcn presomted i instrustion manual Tomat

Meessage beemit and atbery, Aruire braad understanding of and look Ton specific nformation in bonger tents e edtoriak, essy, wic, Mae inferentes fmm advarced s,
Section - 3 Abilisy b undersiaed sHuation-based vriacings in finctione 2 GiirGAALTOREN Y cospliments; Agrosing, Lesagreeing, Reumsing, Sesbng informatios, Proenciation,

i1
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Direction (0. Mo, 1 and 2) ; Choose the most suitabla
wordiphrase for each biank.

. We have to let the law
for the court's verdict in this matter.
(A take | courss {B) maks itz course
(C) lake course (D) take its course

and wakl

fashion,

2, This colour has gone ;i
(&) out from (B} out for
(C) owtof (D) of

WORD AND STRUCTURE KNOWLEDGE

3. Choose the comect spelling.
{A) Pseudonym (B} Pseuvodnym
() Pseudoname (0} Seudonum

4. Selec! the comect phrase.
(A) Take it and leave it
(8) Take il or give it
{C) Take it or leave it
(D) Leave it or take it

F ) = — . il S -

Direction (. No. 5 and 6) : Read the passage and
answer the questions that follow,

Gnee upon -a lime, everybody “did” science, for their
Own amusement and excilement. Al of us, as children,
are scientists too-—tasting substances on our tongues,
discovering gravity, peering under rocks. seeing pattems
in the stars, wondering what makes the night scary and
the sky blus. :

Partly bacause the education system has taught
science only in a reductionist, left-brain style and partly
because of society's demands for practical applicafions
of technatkogy, the love of sclence fades quickly for most
youngsters. Those who love nature but dislike dissecting
small animals soon Jearn to avoid high-schaal biclogy,
Studants who enroll in psychology courses. hoping Io
leam something about how people think and feel. find

Direction (. No. 7 and 8} : Chooss the correct sentence
to compiete the dialogue.
F. Namrata: Hey, come on, let's go and have some
ice cream before the test.
Sujana: Sorry, | can't. | have o study.
Mamrala;
(A) Have a biscuit

READING

themselves learning more about rats and statistics than
they ever wanted to know.
3. According lo the author, all children are sciantists
because they Y
iA) are amused and excited by science
(B} are curlous about sclentists
(C) are laught science in schoaol
(D} enjoy peeping into things, lasting and
wondaring

6. Children do not enjoy science in school because

(A) they are made lo study lechnology
(B} they are forced to dissect animals
(T} itis taught in a boring manner

(D} it iz not taught in a romantic shyle

i(B) Come on, vou have studiad enough.
(C) What's wrong with you?
{D) Come on, ice cream is good far a cold,
8. Kartik: We're going trekking ta the Narmada valley.
Please come.
Misha: | wish | could come.
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(A} The trip sounds fantastic and | am sure will be (C)] But my grandparents will be visiting us and |
great fumn have to be homa
(D) It will be lovaly o be with all-of you for so many

days

(B} The Mamada isa rver that must be seen

Direction (3. No. 9 and 10} ; Choose the bast word! 10, I'msure you'llhaveno _ theaxam.
phrase to complete the sentence. i) difficulties fo passing
8. Apefumgusuallyconsists  asubstance (B difficulty for pass
that i genarally krown gzsental olls, . z
(A) of, a8 (B} in, by C} difficulty passing
{C) of, an (D) in, an (D) difficulty of passing
Torla Cuiiestions - 5 Time:: 1 he
; FATTERN K MARKING SCHEME
Saqtion {1} Logical Reasoning ' {&} Scinnce [ _EEM_E_HEEH_
SOE MATHONAL  No.of Quastions | 1 3 e
SCIEMCE DLYMPIAD Marks per Ques. 1 1 | 3
SYLLABLS

Sectiom = 1 - Yeshal and Nen-verbad Boasaning

Section = X Chimical Reartions and Equations, ficidy, Beves snd Saft, Meiais snd Non-metaly Carban aind B Componnds, L Padesses Conmel and Coomiisation. Aepeotuction
" DR Hmp['.iry. Light-Refiedion and Aelacmios, Haman Fye e Colourful Workd, Becincty, Magnetic Eferts of Eledttic Cumment, Oor Fraaroniménl anid ity Mﬂ-ﬂmﬂ
Section = 3 : Higher Ordar Thinkirg Questons = Syilabun 33 per Sadion = J.

LOGICAL REASONING
1. Ina certsin code language, 'si po re’ means 'book s 3. Which of the following figures will complete the given
thick’, 'ti ma ra’ means "bag is heavy', "ka si' means figure matrix?

‘Interesting book' and "de ' means ‘that bag’, Which

of the following means ‘that i& interesting in that code i & 3 &l
language? L o oo
{A) kadere B) tpoka

() desire (D) kare ma o <> ® Tl

4 In the given figure, (B} Cﬂ Q-] oS0
rectangle, square, circle = )
and lriangla represants the = C % ?
regions of wheat, gram, & e = L]
maize and rice cullivation (< =)
respectively.

Which area |z cultivated by rice and maize onkyT =
(A) 9 (B) B o |e0®
(€) 2 (D) 7 %

4. The given figure shows the phenomenon of IfY. I, B, ¥, O and R denole viplat, indigo. blua,
recombination of the specirum of white light using yallow, orange and red colours respectively, then
b piFSrS. which of the following options correctly lists the

e colour of marked rays?

e ® @ @ & @@ B
(Al R W B : I o
Bl R W ¥ B o |
(C) W R B ¥ I 8
(o) v R Y B o I
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5. The given figure shows a V-shaped wire lying in
K-y plane. A curent of | ampere flows in the =
The direction of the magnatic fisld at point & which
lies in the same plana is along

{A) Positive z-axis
(C) Negative z-axis

(B} Positive x-axis
(D) Negative x-axis,

6. Which of the following statemenits is true with respect

fo diamond 7

(A) The carbon atoms are connected o each other
by metallic bonds.

{B} In the diamond crystal, the carbon aloms arg
very loosely packed.

{C) Each carbon atom in the crystal is surmunded
by four other carbon atoms farming a rigid 3-D
structure;

(D) Diamond can be synithesised by subjecting pure
carbon to very low pressure and temparature.

7. Strips of metal X were dipped into two different
solutions as shown -

- Which of the following statements .al;u:uul: the given
reaction are nol comrest?

Fe; 05 + 300 — 2Fe + 300,

| Fe;0, is getting oxidised to Fe.

. Fey0,is acting as a reducing agent.

. 0 is acting as a reducing agent.

V. CO is getting reduced to G,

(A} Tand Il anly (B) L 1 and IV anly
{C} Il and IV only (D) Land Il anly

10. The given graph shows the harmonat changes during
a normal menstrual cycle, What would be 5 likety
consequence if the hormone represented by graph
(3 is lacking in an adult female?

soiuillen
A greyish metaliic deposit was found on both strips.
Which of the following could be matal X7

(A Cu (B) Mg

[C) Pb (D} Fe

identiy the given developmenta stage of human
embryo and select the comect option regarding it,

stage implantation
(A) Blastocyst Uterire wall
(B} Maruia Literine wall
(C) Blastula Mid part of Fallopian tube |
(D) Gastrula Mid part of Faliopian tube

ACHIEVERS SECTION

By

(A} The uterine lining might net be sufficiently stabie
o support an implanted My,

{B) Levels of the hormane represanted by graph &
wouid be higher than niormal.,

{C) Fartilization of ovum would fail o ocour,

(D} There would be no significant effect since the
functions of the hormones overlap, b

Tartal uestions | 50

FATTERN & MARKING SCHEME
{2} Mathematical |

i B i i g
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SYLLABLS =
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If +' means '+, '+ means '-', '=" means ‘&',
means '+ thep 12+ 6+3-2x 8=

' Ay -2 (B) 2

[C) 4 (o) 8

2, How many such pairs of letters are there in the given
word each of which has as many letters batween
them in the word as in the English alphabet?

ADVERTISEMENT
(A) Three (B) Four
{(C) Five (0 Mare than five

4, The sums of n terms of twa arthmetic serles ara
| in the ratio of 70 + 1 : 4n + 27, Find the ratio of

I their 11" tarms.
| A 413 (B) 5:4
c)y 7o 4 () Mone of thesa

5. Which of the following is true?
(A} Three points {1, -2), {3, 4) and (4, 7) form a
siraight fine.
{B) Any line paraliel to x-axis is y= b

7. The average score of a player in 10 innings was
77 rung. In the 11" inning he had scored 2ero runs.
The averall average score in all the 11 innings was
(A&} T7runs (B} &7 runs
[EJ 11 funs (D) 70 uns

8. Akite is flown with a thread of 250 m Iengm If the
thraad s assumed to-be streiched and makes an

2. Which of the following is incorract?

(&) ForK= g.tha agualion 2x® + 3x + K =0 will
have real and equal roots.

(B) For K=-1, the equation x* + Kidx+ K=1)+ 2
=0 will have egual roois

(C) ForK=2 theequation »” — 2x1 + 3K)+ 1{3+ 2K)
= ) will have equal roats.

() For K'==3, the equation (K + 1)x* - 2{K - 1)x
+ 1 = 0 will have egual roots.

REASONING

3. Select the Venn diagram from the options which
best ilustrates the relationship amongsl, “Teacher,
Male and Player”,

0262

o) %

Iiﬂ] %

MATHEMATICAL REASONING

{C) The point {3, 4} is at a distance of 5 units from
the origin.
(D} Al uf Ihaaa

6. Anumber is chosen at random from 1 to 120, The
probability of the number chesen being a multiple
of 3and 15bothis _ .
(A) 1115 (B} 116
{CY N7 (D) 119

EVERYDAY MATHEMATICS

angle of B0" with the horizontal, then the height
of the kite above the ground is (Use 3 = 1.73)
(&) 216.50 m
(B} 215.25m
{C) 212.25m
(D) 210.25m

ACHIEVERS SECTION

10. The points A{-5, 5], i
B(1,-3)and Ci4, -3) are shown
in the given figura

Find : E"‘x
(a) the coordinates of the 5

midpaint of AC,
{b) the length of AB.
(a) {b)
(&) (=1/2,1) 9 units
8y {-172, 1) 10 units
(C) (112, -1) Bunits
(o (172, =1 10 units

me— Sample Paper | Class=10 | S@F -




PATTERN & MARKING SCHEME

(3} information | (4} Achiavers
[X) Computer Soence Toct hE'I' :

“ _.l___ = H . z i ;_
1 1 K}

SYLLARDS

Section — 1 = Veshal and Mon-Verbal Rsasoning

Sedion - 2 ¢ ondamentak of Campotér, Mumber Sysbem, Opeating System, M53ord, Nevacrbnn, b5 -PowerPoing, MS-Excel, HTRE & 055, Cyber Safely, Datahase
Management System{Funciions, Types, Mi-Aootisl, Uing Windgws 10, Programming in Scratch, Prageamming in Pythan 3,11 {25 of December 20221,

Sectian —3 1A, Fobetics, 1T Gadgeb, Devices, Sppe, Compobesization and oiher Developments i the Fiekdof i1,

Soction = 4 ¢ Higher Order Thinking Cuestions - Sylabus 2 pe Secliony 7 and 3,

Questiansg ane based on Windows 10 and M3-0tfice 2076

LOGICAL REASONING

T —

1. Q R 58 T Uand \V are seated in a straight line 3. Selecta figure from the options which will comiplete
facing Morth. S is second to the right of Tand T is the given figure matrix.
second to the right of Q. R is to the left of G and
second to tha left of V.
What is O's position with respect to 57 TN .ﬂﬂh& ﬁ
{A} Third to left (B) Fourth to left
{C) Second ta left (D) Fifth 1o Jeft & D
2, Which of the following Venn diagrams best reprasent
Ihe relationship amongst, "Petals, Bouguet and @ -
Flowers™7? '

(B) | &

S ey

O
O . 00 {c:@ o |

COMPUTER SCIENCE

4. Wriich of the following tasks is performed by utility {C) A,
software? (D} None of these
(A} Helps you to backup data R L —T
(B} Removes cutdated files or recover data that has 6. Which of the following options of Settings windows
been Mld“"'ﬂ"}" erased in Windows 10 allows to do time and language
. (C) Avokd or clean virus related changes? i
(D) Al of these
- e : iy
5. 55 comments starls with and ends with (A .g {B) %
(A fo, of = ;
(BY = ff () E:_ (D) Both (A) and (B)

INFﬂHMAﬂﬂN TEL-HHC!!LOE‘\"

7. Which of the ll::illmlnng uptlnns is the second stage {A) Data Exploration
of Al project cycle? {B) Problem Scoping

4 L — sQr | Bample Paper | Class-10 ll-—f;




(2} Data-Acquisition
() Data Modedling

8. Which of the following services iz not offered by

Googla?
(A) - (8)

Match the icons given in column | with thelr
descriplions given in colump || with respect-to MS-
Excel 2016, :

Colurnn 1

ACHIEVERS SECTION

-

Coturmn 11

(1) Custom Views

{f) MNarmal View

(i) Fage Break Preview

T

(A (i), (b)-{ii). (e)-(i)
(B) {ak-(A). (bj-(iii), {c)(i)
(CY a0y, (B-(i), (e)ii)
(D) {a)-fi (b, (c)-{il
Select the mcomect match with respect to number
systam.

(A) {41, = {011},

(B) 15)s= (101},

{C) (8} = (110},

(L) (3h = (011);

Total Dueshnns - 50

SOF INTERMATIONAL | Wo of Questions | 15 f -t - —[ e
SCCIAL STUDIES OLYMPLAD | Marks per Ques. | 1 I 1 | i | 1 ! 3
SYLLABUS

Section — 1 History - Nationafiem in Earape and India, Globalisatlon and Inchustrialisatien, Print Juliiie s the Moder Warld
Section - 1 : Geography — Riesources and Devalopment, Forest Wildlife and Water Resources, Agriculture and industyins, Minerais and Ersiigy Resources, Lifelines

ot Nasiona! Eonomy

Section — 3 : Political Schence - Fower Sharing and Federalism, Gender, Religion and Caste, Poltical Parties, Dutromes of Demacracy
Sextion - 4 ; Ecanomics — Develapment and Sectars of the Indian Econamy, Moy and Credit, Giokalsation and Congumer Rights

Section — 5 : Higfwr Order Thinking Questians - Syllalis 45 per Sectian — 1. PR

1. With reference to popular revalts in Europa, against {B) Ragur
whom the weavers in Silesia led a revalt in 18457 iC) Laterite
(A) The policemen (D} Bangar ot
(B) Cantractors 4. Which of the follawing river projects provide
\C) Land owners hydroelectricity to the industries of Maharashtra?
(D} Paliticians {A] Koyna Project

: o (B) Hirakud Project

2, Who improved the "Steam Engine’ in 1781 producad (C) Nagarjuna Sagar Project
O Noviciiont (D) Ghataprabha Preject
(A) Marco Polo i - = 2 = -
(B} Richard Arkwright 3. Which language was declared as the only official
{C) James Watt language of Sri Lanka by an Act passaed in 19567
(D) None of these (A) Tamil
i LR T o 1 (B} Sinhal

4. Another name for black soil is = (C) Hindi
(A) Khadar (D} English

— - Sample Paper | Class-10 [EFI" - e —— —_— —_— +‘lI



6. What is a signed document submitted to an

8

authorized officer regarding one's personal
information called?

(A) Affidanit

{B) Deciaration

{C) Agreement

(DY Appead

The basic services like ransportation, banking,
msurance, etc., belong to which of the following
sechors?

Match the columns and select the correct aplion.

Column | Colummn Il
(@) Independance (i) 1948
of i Lanka
(b} Amendmentsin (i) 1950s and 1960s
Belgian
canstitution

(c) Confiict between (i) 1270 -1923
French and Dutch
speEakirg communities
ir Bedgium

(A} (@) - (i3, (b) - (i, {e) - (i}

(&) Primary secior
(B} Secondary seclor
(G} Tertiary sector

1) B wntier

Grameaan Bank of Bangladesh was founded by

(&) Prof. M. Yunus
(B} Prof. & Sen

{C) Dr. M. M., Singh
{0} Ms T. Nasreen

ACHIEVERS SECTION

(B} (&) - (i), (0} - (i), (c) - (i)
(C) (@)= (W), (b= (i), (c}- ()
(D} () - (i), (b) - i), (c) - (i)

. Select the incorrect matsh.

(A) Hind Swaraj = Mahatma Gandhi

(B) Chauri Chaura —  Halting of Non-
Cooparation
Movernant

(C) Swargj Party - CR. Das and Motilal
Mehru

(D) Rowlatt Act —  Before the First World
War
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